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Pecan water and fertilizer use

 Pecan ET can be 1.4 m a year, and
Irrigation Is about 2 m.

« Annual nitrogen use is about 200 kg/ha
(100 trees), and fertilization is about 350 N

kg/ha



Objective

 Develop a pecan irrigation-fertilization
scheduling model
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Biomass allocation
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Leaf and nut growth measurement
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Shoot growth measurement
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Results
Branch diameter growth
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Nut yield

—eo— Simulation

—m— Observation

3500

3000
2500
2000

(euy/63) yimoub 1NN

o O
o O O
0 O
—

v0/6</11
0/T€/80
70/20/90
0/v0/€0
€0/s0/cT
€0/90/60
€0/80/90
€0/0T/€0
¢c0/0T/CT
¢c0/11/60
¢c0/€T/90
c0/ST/E0
10/ST/CT

Time (days)



— Simulation
o— Observation

-

Leaf growth

<
—

v
o

© ¥ o ©
©O o o o

olel Yyimoub Jjea’

70/60/0T
0/70/90

70/6¢2/10 RN

£0/72/60 -3
N

€0/0¢/50 @

c€0/ET/10 m

—
¢0/80/60

¢0/¥0/S0



Model scheduling
Scheduled irrigation
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Model scheduled annual irrigation
amount compared to farming practice
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Scheduled fertilization
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Conclusion

 This model can be used for pecan
irrigation-fertilization scheduling.



Future work

e More tests on this model
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